QthE R vs. Total
OL):1 L2 F=F
BETE k n t —EBE RBE ERE
-F BRTE 885 a e i o u_sub total a e i o u_sub total a e i o u_sub total ai ei ui_sub total 0 u_sub total a e i o u_sub total
k a -1.6 -0.7 -0.3 -15 -0.3 -4.4 -2.7 -2.6 -0.9 -0.7 -0.7 -7.7 -0.7 -0.7 -0.6 -0.1 -0.2 -2.3 -2.3 -2.6 -0.4 -5.4 -6.5 -2.1 -8.6 -1.9 0.0 -33 -2.3 -1.4 -9.0 -37.5
e -0.7 -0.3 -0.1 -0.7 -0.1 -2.0 0.1 cfil7) -0.8 -0.3 -0.3 £215] -0.3 -0.3 -0.3 -0.1 -0.1 -1.0 -1.0 cfil9) -0.2 -2.4 £17) -0.1 £8 -0.4 0.0 <fil7/ -1.0 -0.6 -3.8 -15.0
i -0.3 -0.1 0.0 -0.2 -0.1 -0.7 -0.4 -0.4 -0.3 -0.1 -0.1 -13 -0.1 -0.1 -0.1 0.0 0.0 -0.4 -0.4 -0.4 -0.1 -0.8 -13 -0.3 -1.6 -0.3 0.0 -0.6 -0.4 -0.2 -1.5 -6.3
[ C1%5) 5 -0.2 -0.5 -0.3 -1.0 cfildl 11 cfil7) -0.7 -0.6 £215) -0.6 -0.7 -0.5 -0.1 -0.2 L2581} 17 0.6 -0.4 -1.4 B/ -0.6 -6.3 3.0 0.0 -3.0 -1.6 -0.4 -2.0 -15.4
u -0.3 -0.1 -0.1 -0.3 -0.1 -0.9 -0.6 -0.5 -0.4 -0.1 -0.1 -1.8 -0.1 -0.1 -0.1 0.0 0.0 -0.5 -0.5 -0.5 -0.1 -1.1 -0.4 -0.4 -0.8 -0.4 0.0 -0.8 -0.5 -0.3 -1.9 -7.0
sub total -4.4 0.2 -0.7 £l -0.9 -9.0 -4.7 E3%7) -3.6 -2.0 -1.8 A58 -1.8 -2.0 -1.6 -0.4 -0.5 -6.2 55:0) -4.2 cfildl =1l 22 7.2 -3.6 -20.8 -0.1 -0.1 -9.4 B/ -3.0 -18.3 -81.2
n a -2.7 -1.2 -0.4 13.1 0.3 9.1 17.6 12 -1.2 -1.2 -0.7 15.7 -1.1 -1.2 -0.9 -0.2 -0.3 -3.8 -3.8 16.4 -0.7 11.8 10.6 39 14.4 7.2 0.0 -1.5 -3.8 -1.9 0.0 47.3
e -0.9 cfil7) -0.4 132 03 11.0 5.1 4.4 14 cfil7) 5.8 15.6 cfildl -0.7 17 -0.2 -0.3 -0.7 -1.6 24.7 -0.7 224 329 12.2 45.1 111 0.0 3.4 5.8 8.9
i -1.8 -0.8 -0.3 -0.8 -0.4 -4.0 -2.5 -2.9 -1.9 -0.8 -0.7 -8.9 -0.7 -0.8 -0.6 -0.2 -0.2 -2.5 -2.6 -0.7 -0.5 -3.8 10.8 -2.3 8.5 -0.4 0.0 0.6 -2.1 -1.1
[ -0.7 -0.3 -0.1 -0.7 -0.1 -2.0 cfil7) cfil7) -0.8 -0.3 -0.3 -3.8 -0.3 -0.3 -0.3 -0.1 -0.1 -1.0 -1.0 cfil9) -0.2 -2.4 E3%7) -0.9 -4.6 -0.9 0.0 <fil7/ -1.0 -0.6
u 0.6 -0.3 -0.1 24 -0.1 25 10.1 6.7 7.5 -0.3 -0.3 237 -0.3 -0.3 -0.2 -0.1 -0.1 -0.9 -1.0 5.0 -0.2 38 373 35 40.7 4.0 0.0 15 -0.9 -0.6
sub total &5 -3.8 513 273 0.0 16.6 29.1 83 4.9 -3.8 3.9 42.4 £5 -3.4 -0.4 -0.7 -0.9 -8.9 -10.0 44.1 G282 32.0 87.9 16.2 104.1 21.0 -0.1 2.4 G1%9) 4.6
t a -0.7 -0.3 -0.1 -0.6 -0.1 -1.8 -1.1 -11 -0.7 -0.3 -0.3 -3.5 -0.3 -0.3 -0.2 -0.1 -0.1 -0.9 -1.0 -1.1 -0.2 -2.2 -3.4 -0.9 -4.2 -0.8 0.0 -1.5 -0.9 -0.6
e -0.7 -0.3 -0.1 -0.7 -0.1 -2.0 cfil7) cfil7) -0.8 -0.3 -0.3 -3.8 -0.3 -0.3 -0.3 -0.1 -0.1 -1.0 -1.0 cfil9) -0.2 -2.4 3% -0.9 -4.6 -0.9 0.0 <fil7/ -1.0 -0.6
i -0.6 -0.3 -0.1 0.3 -0.1 -0.7 -0.9 -0.9 -0.6 -0.3 -0.2 -3.0 -0.2 -0.3 -0.2 0.0 -0.1 -0.8 -0.8 -0.5 -0.1 -1.5 -2.9 -0.7 -3.6 -0.7 0.0 -13 -0.8 -0.5
[ -0.1 -0.1 0.0 -0.1 0.0 -0.4 -0.2 -0.2 -0.2 -0.1 -0.1 -0.7 -0.1 -0.1 0.0 0.0 0.0 -0.2 -0.2 -0.2 0.0 -0.5 -0.7 -0.2 -0.9 -0.2 0.0 -0.3 -0.2 -0.1
u -0.2 -0.1 0.0 -0.2 0.0 -0.5 -0.3 -0.3 -0.2 -0.1 -0.1 -0.9 -0.1 -0.1 -0.1 0.0 0.0 -0.2 -0.3 -0.3 0.0 -0.6 -0.9 -0.2 -1.1 -0.2 0.0 -0.4 -0.2 -0.2
sub total G213) -1.0 -0.4 cfil9) -0.5 553 -3.8 £/ G25) -1.0 -0.9 E1220] -0.9 -1.0 -0.8 -0.2 -0.2 £7) S8 S8 -0.6 el ELIES) -3.0 -14.5 S 2574 0.0 58 £17) -2.0
—ER/E ai -2.3 20 -0.4 -0.4 -0.5 -1.6 0.5 -2.9 -2.1 -1.0 -1.0 -6.5 -1.0 -1.0 -0.8 -0.2 -0.3 -3.3 -2.9 -0.7 -0.6 -4.2 8.1 -2.6 5.6 -0.2 0.0 0.3 -1.5 -1.2
ei -1.4 1.0 -0.4 10.6 -0.5 9.3 9.5 2.6 -1.6 cfil7) 0.2 9.5 cfildl cfil9) 0.4 -0.2 -0.3 -2.4 G215) 109 -0.7 7.8 213 251} 19.1 124 0.0 6.0 £17) -1.0
ui -0.4 -0.2 -0.1 0.1 -0.1 -0.7 -0.7 -0.7 -0.5 -0.2 -0.2 -2.2 -0.2 -0.2 -0.1 0.0 0.0 -0.6 -0.6 -0.7 -0.1 -1.4 0.1 -0.5 -0.5 -0.5 0.0 -1.0 -0.6 -0.4
sub total -4.1 2.8 -0.8 103 cfildl 7.0 9.3 -0.9 -4.2 -2.4 -0.9 0.8 G2%2) -2.4 -0.6 -0.5 -0.6 -6.2 25:0] 915) -1.4 2.2 25 52 242 11.8 -0.1 53 25%3) -2.6
REBE o -2.2 7.6 -0.4 22.4 -1.7 25.6 11.9 4.4 -0.8 -3.7 0.1 11.8 -3.4 -3.7 -1.6 -0.7 -0.9 -10.2 -11.3 135 -2.1 0.1 225 53 27.8 9.3 -0.1 -10.4 -11.4 -0.8
u G251} -0.5 -0.3 -0.2 -0.4 -3.6 G1%3] -3.4 G213) -0.9 -0.4 -8.4 -0.9 -0.9 -0.7 -0.2 -0.2 -3.0 -3.0 -3.4 -0.5 &Z:0) -2.4 -1.8 -4.3 1.8 0.0 £}l =210) -0.6
sub total -4.3 7.0 -0.8 222 -2.1 22.0 10.5 1.0 -3.2 -4.6 -0.4 34 -4.2 -4.6 -2.3 -0.9 -1.1 -13.2 -14.3 10.1 -2.6 -6.9 20.1 35 23.6 1.1 -0.1 -13.5 -14.4 -13
BEE a -0.2 -0.4 -0.3 17.7 2.6 194 16 124 cfily/ -0.9 -0.4 111 -0.8 -0.9 -0.2 -0.2 -0.2 £213) -2.8 129 -0.5 9.6 3.2 L2581} 12 £213] 0.0 -4.5 -2.7 -1.7
e 0.0 0.0 0.0 0.0 0.0 -0.1 0.0 0.0 0.0 0.0 0.0 -0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -0.1 -0.1 0.0 -0.1 0.0 0.0 0.0 0.0 0.0
i L215] cfily/ -0.6 -0.4 -0.8 £S19) -0.6 -0.5 -4.1 cfil7/ cfildl -8.0 C1%5) cfil7/ C1%3) -0.3 -0.4 £553) -5.4 L2222 -1.0 -8.5 -14.3 -4.9 SLO5I! -1.4 0.0 -7.8 52 &8
[ -2.3 -1.0 -0.4 -1.6 -0.5 -5.7 -3.8 -3.7 -2.5 -1.0 -0.9 -11.9 -0.9 -1.0 -0.8 -0.2 -0.2 -3.2 -3.2 -3.7 -0.6 -7.5 -11.4 -2.9 -14.4 -2.7 0.0 -5.2 -3.1 -2.0
u -1.4 -0.6 -0.2 -0.9 -0.3 £ -2.4 G1%5) -1.6 -0.6 -0.6 -6.7 -0.6 -0.6 -0.5 -0.1 -0.2 -2.0 G251} -1.0 -0.4 -3.4 -4.7 129) -6.5 fil7/ 0.0 S8 -2.0 1)
sub total -6.4 -3.8 -1.5 14.8 1.1 4.2 -5.2 6.8 -9.9 -4.2 -3.0 -15.6 -3.9 -4.2 -2.9 -0.8 -1.0 -12.8 -13.4 5.9 -2.4 -9.9 -27.2 -11.7 -39.0 -8.1 -0.1 -20.8 -13.1 -8.3
Total YAl 14 &3 70.2 £5 255 35.2 7.7 -18.4 -18.0 £17) 3.2 -16.6 -17.6 -8.5 -3.4 -4.4 -50.5 57288 62.2 -10.2 -0.9 81.4 -3.8 771.7 33.0 -0.5 -41.3 -43.6 =0L7
@5 vs. Total
OmeE FZF
BETE k n t —EBE RBE ERE
-F BRTE 885 a e i o u_sub total a e i o u_sub total a e i o u_sub total ai ei ui_sub total o u_sub total a e i o u_sub total
k a 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 32 0.0 0.0 32 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.3 0.0 6.3 0.0 0.0 36 0.0 0.0 36
e 0.0 0.0 0.0 0.0 0.0 0.0 L8 0.0 0.0 0.0 0.0 G153 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -0.4 -0.9 1 3] -0.4 0.0 0.0 0.0 0.0 -0.4
i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
[ 0.0 -2.2 0.0 -0.9 0.0 -3.0 L8 55 -0.4 0.0 0.0 5.2 0.0 0.0 0.0 0.0 0.0 0.0 -0.4 -3.0 0.0 5 il G13] -3.0 -4.8 0.0 3.6 -0.4 -0.9 525)
u 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -13 0.0 -13 0.0 0.0 0.0 0.0 0.0 0.0
sub total 0.0 522, 0.0 -0.9 0.0 -3.0 5276) 35 2.7 0.0 0.0 &3 0.0 0.0 0.0 0.0 0.0 0.0 -0.4 -3.0 0.0 &5 2.9 5242 0.7 52 0.0 7.2 -0.4 -0.9 0.7
n a 0.0 0.0 0.0 -11.5 -0.9 -12.4 -22.0 10.5 23 0.0 36 -5.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -0.6 0.0 -0.6 4.0 -7.3 -3.3 -2.3 0.0 73 0.0 36 8.6
e 14.4 0.0 0.0 8.6 3.2 26.2 E5i5] 7.5 7.8 0.0 5.2 15.0 0.0 -0.4 -2.6 0.0 0.0 -3.0 2%, -12.8 0.0 -15.0 26.3 0.6 26.9 -6.2 0.0 14.7 5.5 82 -4.2
i 0.0 0.0 0.0 -0.9 0.0 -0.9 36 0.0 0.0 0.0 0.0 36 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -2.2 0.0 -2.2 -15.9 0.0 -15.9 23 0.0 33 36 36 12.8
o 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
u 2.7 0.0 0.0 1.0 0.0 37 -7.2 -7.8 -8.2 0.0 0.0 -23.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 6.0 0.0 6.0 -28.5 37 -24.8 33 0.0 5.0 0.0 0.0 8.3
sub total 171 0.0 0.0 5228] 23 16.7 3l 10.2 19 0.0 8.8 RS 0.0 -0.4 -2.6 0.0 0.0 -3.0 52%2, 05 0.0 -11.7 -14.1 -3.0 7l 5229] 0.0 304 5L 4.0 25.6
t a 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
i 0.0 0.0 0.0 -0.9 0.0 -0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -0.4 0.0 -0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
o 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
u 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
sub total 0.0 0.0 0.0 -0.9 0.0 -0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -0.4 0.0 -0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
—ER/E ai 0.0 -3.0 0.0 -1.7 0.0 -4.8 -4.3 -0.9 -0.4 0.0 0.0 -5.6 0.0 0.0 0.0 0.0 0.0 0.0 -0.4 1.0 0.0 0.6 -3.8 -0.4 -4.2 14 0.0 -1.6 -1.7 -0.9 -2.7
ei 2.7 19 0.0 -0.9 0.0 37 il 5229] 2.7 0.0 6.8 4.9 0.0 0.0 13 0.0 0.0 13 G13) =ilil il 0.0 -12.4 253 2.7 0.4 TS 0.0 4.0 3.6 G13] cfil7)
ui 0.0 0.0 0.0 -0.4 0.0 -0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -2.2 0.0 -2.2 0.0 0.0 0.0 0.0 0.0 0.0
sub total 2.7 cfil7) 0.0 -3.0 0.0 G1%5) -6.1 Y74 23 0.0 6.8 -0.7 0.0 0.0 G13) 0.0 0.0 G1%3) E1%7) -10.1 0.0 -11.8 -8.2 23 B -6.1 0.0 2.4 1.9 5242 28
REBE o 10.1 -7.2 -0.9 6.5 0.0 8.5 6.8 10.5 -0.1 0.0 -3.5 136 0.0 0.0 -13 0.0 0.0 -13 36 14 0.0 5.0 16.7 -3.9 12.8 29.4 0.0 23.6 0.0 -6.5 46.5
u 0.0 -0.4 0.0 G1%7) 0.0 52%2) 19 0.0 0.0 0.0 -0.4 14 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -8.2 -0.9 Ll -4.3 0.0 S1%7) 0.0 2.7 535
sub total 10.1 -7.6 -0.9 4.7 0.0 6.3 8.6 10.5 -0.1 0.0 -3.9 15.1 0.0 0.0 -13 0.0 0.0 -13 36 14 0.0 5.0 8.4 -4.8 37 25.0 0.0 219 0.0 -3.7 43.2
TEE a 23 -0.4 0.0 -15.4 £0 -16.6 -4.8 =ilil3 -0.4 0.0 -0.4 7.2 0.0 0.0 3.6 0.0 0.0 3.6 0.0 E319] 0.0 319 7.2 -0.4 6.8 0.0 0.0 0.0 0.0 0.0 0.0
e 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
i 2.7 0.0 0.0 1.0 0.0 37 -1.6 5!6] 0.0 0.0 -0.4 -7.6 0.0 0.0 0.0 0.0 0.0 0.0 0.0 E319] 0.0 310 -0.7 0.0 -0.7 -3.0 0.0 -0.9 0.0 0.0 28
[ 0.0 0.0 0.0 -0.4 0.0 -0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
u 0.0 0.0 0.0 -0.4 0.0 -0.4 0.0 -0.9 0.0 0.0 0.0 -0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.7 0.0 2.7 14 0.0 14 0.0 0.0 0.0 0.0 0.0 0.0
sub total 5.0 -0.4 0.0 -15.3 -3.0 -13.7 -6.3 -18.0 -0.4 0.0 -0.9 -25.7 0.0 0.0 3.6 0.0 0.0 3.6 0.0 -5.1 0.0 -5.1 7.9 -0.4 7.5 -3.0 0.0 -0.9 0.0 0.0 -3.9
Total 35.0 -11.4 -0.9 -18.1 -0.7 3,9- -4.5 6.3 0.0 10.8 -24.9 0.0 -0.4 51%6) 0.0 0.0 -2.0 -0.7 -26.7 0.0 225] &l -8.1 =ilil 22 7.9 0.0 61.0 -4.5 -2.8 61.7
@5 vs. Total
OL):1 L2 F=F
BETE k n t —EBE RBE ERE
B-F BRTE 885 a e i o u_sub total a e i o u_sub total a e i o u_sub total ai ei ui_sub total o u_sub total a e i o u_sub total
k a -1.6 -0.7 -0.3 -1.5 -0.3 -4.4 -2.7 -2.6 22 -0.7 -0.7 -4.5 -0.7 -0.7 -0.6 -0.1 -0.2 -2.3 -2.3 -2.6 -0.4 -5.4 -0.2 -2.1 -2.3 -1.9 0.0 0.3 -2.3 -1.4 -5.4
e -0.7 -0.3 -0.1 -0.7 -0.1 -2.0 cfil7) cfil7) -0.8 -0.3 -0.3 -3.8 -0.3 -0.3 -0.3 -0.1 -0.1 -1.0 -1.0 cfil9) -0.2 -2.4 -3.7 -0.9 -4.6 -0.9 0.0 <fil7/ -1.0 -0.6 -4.2
i -0.3 -0.1 0.0 -0.2 -0.1 -0.7 -0.4 -0.4 -0.3 -0.1 -0.1 -13 -0.1 -0.1 -0.1 0.0 0.0 -0.4 -0.4 -0.4 -0.1 -0.8 -13 -0.3 -1.6 -0.3 0.0 -0.6 -0.4 -0.2 -1.5
[ C1%5) -0.7 -0.2 C1%3) -0.3 -4.0 -2.4 -2.4 -1.6 -0.7 -0.6 Tsl] -0.6 -0.7 -0.5 -0.1 -0.2 L2581} C251) -2.4 -0.4 -4.9 D S129) -9.4 <fil7/ 0.0 0.6 28] S 13) -4.5
u -0.3 -0.1 -0.1 -0.3 -0.1 -0.9 -0.6 -0.5 -0.4 -0.1 -0.1 -1.8 -0.1 -0.1 -0.1 0.0 0.0 -0.5 -0.5 -0.5 -0.1 -1.1 -1.7 -0.4 -2.1 -0.4 0.0 -0.8 -0.5 -0.3 -1.9
sub total -4.4 -2.0 -0.7 -4.0 -0.9 -12.0 §/:3) S22 -0.8 -2.0 -1.8 g2 -1.8 -2.0 -1.6 -0.4 -0.5 -6.2 -6.3 /2 cfildl -14.6 -14.3 oY) -20.1 57 -0.1 -2.2 -6.2 -3.9 ELZE5)
n a -2.7 -1.2 -0.4 16 -0.6 -3.3 -4.4 11.8 11 -1.2 29 10.1 -1.1 -1.2 -0.9 -0.2 -0.3 -3.8 -3.8 15.8 -0.7 11.3 14.6 -3.5 11.1 4.9 0.0 59 -3.8 17 8.6
e 135 cfil7) -0.4 21.8 35 37.2 -0.3 119 9.2 cfil7) 11.0 30.6 cfildl cfil7) -0.9 -0.2 -0.3 -3.7 -3.8 119 -0.7 7.4 59.2 12.7 72.0 4.9 0.0 181 -3.7 57 25.1
i -1.8 -0.8 -0.3 -1.6 -0.4 -4.9 11 -2.9 -1.9 -0.8 -0.7 -5.3 -0.7 -0.8 -0.6 -0.2 -0.2 -2.5 -2.6 -2.9 -0.5 -5.9 -5.0 -2.3 -7.3 19 0.0 39 15 25 9.8
o -0.7 -0.3 -0.1 -0.7 -0.1 -2.0 cfil7) cfil7) -0.8 -0.3 -0.3 -3.8 -0.3 -0.3 -0.3 -0.1 -0.1 -1.0 -1.0 cfil9) -0.2 -2.4 £3%7) -0.9 -4.6 -0.9 0.0 157, -1.0 -0.6 -4.2
u 34 -0.3 -0.1 34 -0.1 6.2 29 -1.1 -0.7 -0.3 -0.3 0.5 -0.3 -0.3 -0.2 -0.1 -0.1 -0.9 -1.0 11.0 -0.2 9.9 8.7 7.2 15.9 73 0.0 6.5 -0.9 -0.6 12.3
sub total 116 -3.8 G1%3) 245 23 253 -2.0 185 6.8 -3.8 126 321 £5 -3.8 -3.0 -0.7 -0.9 E12:0] -12.2 34.6 G222 20.2 73.8 13.2 87.0 18.1 -0.1 327 -7.8 8.6 515
t a -0.7 -0.3 -0.1 -0.6 -0.1 -1.8 -11 -11 -0.7 -0.3 -0.3 -3.5 -0.3 -0.3 -0.2 -0.1 -0.1 -0.9 -1.0 -1.1 -0.2 -2.2 -3.4 -0.9 -4.2 -0.8 0.0 -1.5 -0.9 -0.6 -3.9 -16.6
e -0.7 -0.3 -0.1 -0.7 -0.1 -2.0 cfil7) cfil7) -0.8 -0.3 -0.3 -3.8 -0.3 -0.3 -0.3 -0.1 -0.1 -1.0 -1.0 cfil7) -0.2 -2.4 -3.7 -0.9 -4.6 -0.9 0.0 <fil7/ -1.0 -0.6 -4.2 -18.0
i -0.6 -0.3 -0.1 -0.5 -0.1 -1.6 -0.9 -0.9 -0.6 -0.3 -0.2 -3.0 -0.2 -0.3 -0.2 0.0 -0.1 -0.8 -0.8 -0.9 -0.1 -1.9 -2.9 -0.7 -3.6 -0.7 0.0 -13 -0.8 -0.5 -33 -14.1
o -0.1 -0.1 0.0 -0.1 0.0 -0.4 -0.2 -0.2 -0.2 -0.1 -0.1 -0.7 -0.1 -0.1 0.0 0.0 0.0 -0.2 -0.2 -0.2 0.0 -0.5 -0.7 -0.2 -0.9 -0.2 0.0 -0.3 -0.2 -0.1 -0.8 -3.4
u -0.2 -0.1 0.0 -0.2 0.0 -0.5 -0.3 -0.3 -0.2 -0.1 -0.1 -0.9 -0.1 -0.1 -0.1 0.0 0.0 -0.2 -0.3 -0.3 0.0 -0.6 -0.9 -0.2 -1.1 -0.2 0.0 -0.4 -0.2 -0.2 -1.0 -4.4
sub total G213) -1.0 -0.4 G251} -0.5 -6.2 -3.8 -3.7 G215) -1.0 -0.9 E1220] -0.9 -1.0 -0.8 -0.2 -0.2 -3.2 S8 £/ -0.6 S/25) LIRS -3.0 -14.5 2574 0.0 58 -3.2 -2.0 =512 -56.6
—ERE ai -2.3 -1.0 -0.4 -2.1 -0.5 -6.3 -3.8 -3.8 -2.6 -1.0 -1.0 -12.2 -1.0 -1.0 -0.8 -0.2 -0.3 -33 -3.3 0.3 -0.6 -3.6 4.4 -3.0 14 13 0.0 -13 -3.2 -2.1 -5.4 -29.3
ei 14 29 -0.4 9.7 -0.5 13.0 7.7 -0.2 11 cfil7) 7.0 14.4 cfildl cfil7) -0.9 -0.2 -0.3 -3.7 -3.8 -0.2 -0.7 -4.6 189 0.6 19.5 4.9 0.0 10.0 0.4 £213] 13.0 51.6
ui -0.4 -0.2 -0.1 -0.4 -0.1 -1.1 -0.7 -0.7 -0.5 -0.2 -0.2 -2.2 -0.2 -0.2 -0.1 0.0 0.0 -0.6 -0.6 -0.7 -0.1 -1.4 -2.1 -0.5 -2.6 -0.5 0.0 -1.0 -0.6 -0.4 -2.4 -10.2
sub total -1.4 16 -0.8 7.2 cfildl 85 3.2 -4.7 G1%9) -2.4 5.9 0.1 G222 -2.4 G1%9) -0.5 -0.6 S/:5) -7.6 -0.6 -1.4 -9.6 21.2 5220) 183 5.7 -0.1 7.7 -3.4 -4.7 54 12.0
REBE o 79 0.4 -13 28.8 -1.7 341 18.6 14.9 -1.0 -3.7 -3.4 25.5 -3.4 -3.7 -2.9 -0.7 -0.9 -11.5 -7.7 14.9 -2.1 5.1 39.1 14 40.6 38.6 -0.1 133 -11.4 -7.3 331 126.7
u G251} -0.9 -0.3 51%9) -0.4 B/ 0.5 -3.4 5213] -0.9 -0.9 -7.0 -0.9 -0.9 -0.7 -0.2 -0.2 -3.0 -3.0 -3.4 -0.5 -7.0 -10.6 2870 G184 G215) 0.0 -4.9 2:0) 2.2 -8.1 -44.1
sub total 5.8 -0.6 -1.6 26.9 -2.1 283 19.2 115 -3.3 -4.6 -4.2 18.5 -4.2 -4.6 -3.6 -0.9 -1.1 -14.5 -10.7 115 -2.6 -1.9 28.5 -13 27.2 36.1 -0.1 8.4 -14.4 -5.1 249 82.6
TEE a 21 -0.9 -0.3 23 -0.4 2.8 -3.2 0.9 251} -0.9 -0.8 -6.1 -0.8 -0.9 3.4 -0.2 -0.2 13 -2.8 9.0 -0.5 5.7 104 £2!5) 7.9 £213] 0.0 -4.5 227 fil7/ -11.1 0.6
e 0.0 0.0 0.0 0.0 0.0 -0.1 0.0 0.0 0.0 0.0 0.0 -0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 -0.1 -0.1 0.0 -0.1 0.0 0.0 0.0 0.0 0.0 -0.1 -0.5
i 03 E1%7) -0.6 0.6 -0.8 -2.2 -2.2 -6.1 -4.1 cfil7/ C1%5) 1687 C1%5) cfil7/ C1%3) -0.3 -0.4 £553) -5.4 -6.1 -1.0 -12.4 -15.0 -4.9 -19.8 -4.5 0.0 -8.6 52 &8 52157 0]
[ -2.3 -1.0 -0.4 -2.1 -0.5 -6.2 -3.8 -3.7 -2.5 -1.0 -0.9 -11.9 -0.9 -1.0 -0.8 -0.2 -0.2 -3.2 -3.2 -3.7 -0.6 -7.5 -11.4 -2.9 -14.4 -2.7 0.0 -5.2 -3.1 -2.0 -13.1 -56.1
u -1.4 -0.6 -0.2 G1%3) -0.3 -3.9 -2.4 5213) -1.6 -0.6 -0.6 S/25) -0.6 -0.6 -0.5 -0.1 -0.2 -2.0 G251} 17 -0.4 -0.7 -3.2 1%9) il fil7/ 0.0 S8 -2.0 13} -8.3 G285,
sub total -1.4 -4.2 -1.5 -0.5 -1.9 -9.5 -11.6 -11.2 -10.4 -4.2 -3.9 -41.2 -3.9 -4.2 0.7 -0.8 -1.0 -9.2 -13.4 0.9 -2.4 -14.9 -19.3 -12.2 -31.5 -11.1 -0.1 -21.7 -13.1 -8.3 -54.3
Total 7.9 -10.0 -6.3 52.1 -4.3 39.4 52:3) 3.2 E1251! -18.0 7.6 -21.7 -16.6 -18.0 -10.1 -3.4 -4.4 -52.6 SRS 354 -10.2 5288 78.4 -11.9 66.5 40.9 -0.5 19.7 -48.0 -15.4 5353 0.0



